R R Lt |
3 (Sem-6) STS M 3

2019
STATISTICS
( Major )
Paper :.6.3
( Applied Statistics—2 )
Full Marks : 60

Time : 3 hours

in the margin indicate fiy marks
The figures 1 for the questions
L following as directeq -
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?I;S Define total fertility rate.
a

(b)) What does the L column of 5 Complete
l.fe table den0te?
i
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2. Answer the following questions : 2x4=8

(@) Distinguish between product control
and process control in SQC-

(b) What are the important functions of the
National Statistical Commission?

(C} How can population projection be used
to determine the future population of a
country?

(d) Distinguish between stationary and
stable pouplations.

3. Answer any three of the following questions :
‘ 5x3=15
(a) Disﬁnguish Clearly petweern control
charts for variable and control charts
for attributes,

(&) What'ss €pidemiology? Write a note on
the importance of its study:

!ﬂe table together with their
1nterpretaﬁ0ns.
WhaF s Standardized death rate? What
are its Advantages and disadvantages

Thether types of death rates?
(6) What i ng inspection

Plan? le sampling

(d)

Meant by sampli
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4. Answer any three of the following questions :

(@)

(b)

(c)

(d)

(e}

A9__2000/707

10x3=30

Explain Rhodes method of fitting a
logistic curve- Also explain why fitting of
Jogistic curve is not satisfactory for

Indlan population.

Define GRR and NRR in detail with their
L and demerits. Also derive the
relat.iOHShip between them.

What are different types of control chart
tar variableS? Explain in detail.

and describe the terms

Explain :
fs risk, consumer’s risk and

produceé
AOQL.

: and compare the important

1SCus
Dis f Census 2001 and Census

highlight ©
2011.
DistinguiSh between tolerance limit ang

speciﬁcaﬁon limit. Also give the

ol Al pasis of 3-sigma limits.
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